TO1-560c

1. DATA ACCESS

Transit Light Curve of TOI-560c
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Light curve Histograms Table
Name Median value Lower error Upper error Casenote  Target
Radius of the planet (in units of Earth radii) 2381 0.066 0.063 Cheops observations TOI-560c
Radius of the star (in units of Solar radii} 0.651 0.017 0.018 Cheops observations TOI-560c
Mid-transit fime {in units of days) 04424 0.0060 0.0050 Cheops observations  TCI-560c
Orbital period (in units of days) 18.8797 Other observations from the archive TOI-560c
Orbital semi-major axs (in units of AU) 0.1242 Other observations from the archive TCI-560¢




SIZE OF THE EXOPLANET

Together with the data collected, we realize how small TOI-560c is.

ORBITAL PERIOD AND DISTANCE

The orbital period is 18.8797 days shorter than that of the Earth, while its distance is far and yet
close to the star.




TEMPERATURE AND HABITABILITY

The temperature is about 225 + 15 °C, the temperature is higher than that of the Earth, so it is not a
habitable place, some of the living beings would not be able to withstand the conditions.

COMPOSITION

The density of the planet is higher, almost equal to that of the planet earth, in my opinion it can
present the same characteristics of a rocky planet.




